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» . OPTION-A
Paper : CSC-HG-3016
( Programming in Python)

1. Answer the following questions : 1x7=7

(@)
(b)
()
(d)
(e)

What is Tuple ?
What is the output of type (3)?

IDLE stands for

ROC stands for

Which character is used in Python to
make a single line comment ?

(f) Each step of an algorithm is unique
and should be self explanatory.
(State True or False)
(9) Python is a case-sensitive language.
(State True or False)
2. Define the following terms : 2x4=8
(a) Debugging ‘
(b) Documentation
(¢) Recursive function
(d) Head funcﬁon
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3. Answer any three of the following :
5x3=15

(@) What is Python interpreter ? What is
the difference between intermediate
mode and script mode ?

(b) What are the differences between string
and list?

(c) Briefly explain multiple assignments in
Python with suitable example.

(d) What are the differences between flow
chart and algorithm ?

(e) Explain exception handling in brief.
4. Answer any three of the following :
10x3=30
{a) Write short notes on the following :
(i) Bitwise operator
(i) Top-Down Approach

(b) Briefly explain any five built in function
that are used in Lists. Give example.

(¢ What do you mean by Python IDE?
Explain in detail.
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(d) Write a program to create stack class
and implement all the methods.

(e) Write a program to read a number and
check whether prime or not.

(f) Write a program to check whether a
- given year is a leap year or not.
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OPTION -B

Paper : CSC-HG-3026
( Computer Network and Internet Technologies )
Answer either in English or in Assamese.

1. Answer the following questions : 1%7=7
wete frdl epicaied Ted forall 8
(a) The term HTTP stands for
(Fill in the blank)
HTTP =@Gie o 2 |
(2T 218 79 )
(b) Peer-to-Peer is a network topology.
- (State True or False)
Peer-to-Peer @< network topology 2 |
(3% (F qGuF GEs ¥91)
(c) The maximum length (in byte) of an
IPv4 datagram is

(Fil'l in the blank)
@Bt IPv4 datagram-3 SCHI® (M9 (byte )
g ! (T N2 T F)

(d) If the system use separate protocol,
device is used to link two
system. (Fill in the blank)

W system (¥ 9¥F protocol I I
_____ device ¥ Y5 system FCIF FRACET
IR 9 A | (T 31F %7 791)
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(e)

Data communication system within a
building or campus is

(Fill in the blank)
<51 SBIfER Al campus-< fooT® w2 AT

iz e S (AT 1% 99 )

() Write an example of star topology.
Star topology< 46 wizgel Wl |
(g) _—___is the lowest layer of OSI model.
(Fill in the blank)
OSI model< ®IlG{Rels Wy &9 (w2 |
(3T 312 77 )
2. Write short notes on: 2x4=8
5y (Oret fort s
(@) Intranet and Extranet
Intranet ©i% Extranet
(b) Gateway and Router
Gateway W< Router
(c) URL and_Web Browser
URL 8. Web Browser
(d) E-commerce
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3. Answer any three of the following
questions : Sx3=15

wers Al SRR A fofabie Te s

(@) Write the advantages and disadvantages
of star topology.

Star topology-3 Rl =% SRIfEPTE forai |
(b) Write the difference between OS] and
TCP/IP reference model. ‘
OSI 9% TCP/IP reference model< =¥
{12 Brard 1 |
(c) Compare synchronous and asynchronous
data communication.
Synchronous 9% asynchronous ©9]J
(NN ASro 9ol B |
(d) Explain IEEE 802-3 LANs.
IEEE 802-3 LAN-Y f{¥a 2ol 11

(e) Distinguish between LAN and WAN.
LAN % WAN-T Tere 16 341 |

3 (Sem-3/CBCS) CSC/TCA/TIT (HG/RC)/G 7 Contd.



4. Answer any -three of the following
questions : 10x3=30

e frml eeEIRa Rigeal fefanrq Tes a3

(a) Explain TCP/IP reference model. How
it differs from OSI reference model ?
TCP/IP reference model-< e 3o <1
OSI reference model-9 5757@ 319 (i & ¢

(b) Create HTML documents with Ordered
and Unordered list, Inserting Images,
Internal and External linking.

@ HTML document IR T8 Ordered
9% Unordered list, Insertings Images,
Internal W% External link JER® |

(c) Explain Guided and Unguided media
with suitable examples.

oY@ THITR! TR Guided W9 Unguided
media i F9 |

(d) Write a JavaScript program to find the
factorial of number n.

n YK factorial TieaRTs @b g avaScript
program fe12i |
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(e) What is data link layer ? Describe error
control and flow control mechanism
used in data link layer.

Data link layer & ? data link layer I9Z©
error control W% flow control
mechanism-=< & I 341 |

() Create a form using HTML which has
following types of control:

HTML © @3« AigEd form IR O OO
TmRe control [ei ACF ¢

i)y Text Box

(ii) Option/Radio Button

(iii) Check Box

(iv) Reset and Submit Button
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OPTION -C
. OPERATING SYSTEMS
Paper : CSC-HG-3036/CSC-RC-3016/TCA-HG-RC-3016

Answer either in English or in Assamese.

1. Answer the following questions : 1x7=7

fafRe e Ter far e

(@) What is operating system ?
Operating system & ¢

(b) Operating system is an application
software. (Write True or False)
Operating system 951 application
software. (8% (7 TJag far=n)

(c) command is used to copy files in
Linux operating system.

(Fill in the blank)

A file copy T FIA Linux
operating system © TR =9 7 |
(T} AT o479 73)

(d) What are the o main function of
operating system ?

Operating system-3 5‘572{?!] o & o
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(e)

is called command interpreter in

Linux operating system.
(Fill in the blank)

¥ Linux operating system-ﬁ
command interpreter & (R 27 |
(3T 312 259 )

() What is the full form of FAT ?

FAT-Y o st foralt |

(g9 What is the purpose of Is command ?

Is command-8 S0y & ¢

2. Define the following terms : 2x4=8
wote fral X (FROI e i g
(a) Process
(b) Head scheduling
(¢) Multiprogramming

(d) Shell
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e of- the following
5x3=15

3. Answer any thre

questions :

mﬁmwwﬁmmﬁﬁﬁm%@%mz
(a) Write the syntax of if statement used
in shell script with an example.
Shell script © IS (A if statement=
syntax 45! TR IS 1|

(b) Explain briefly the functions of

operating system.
Operating system-< ol [Rene oy et
Bl

(c) Briefly explain the state of a proéess.

Process-¥ state R&IFa 53 el 741 |

(d) What is system cell? Name three
system cells.

Systerﬁ cell & 2 o5 system cell< 919
o1 |

(e) Write short note on Process hierarchy.

Process hierarchy-¥ &3tz 55 (Gret i |
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4. Answer any three from the following:
10x3=30

wote fral epERa (R folid Bed fua ¢

(a) What are the different types of operating
system ? Briefly explain each.
Operating system-< Ffon o) @R 2
HRCE 90 |

(b) What is a thread? How does it differs
from a process ? Explain the uses of
threads.

Thread & ? Process W% thread—=< &9
el @ & ? Thread-= I I 0|

(c) What is paging ? - Explain the
components of page table entry. When
a page fault occurs ?
Paging & ? Page table entry-S T
Qe At 9 | Page fault (3797 |

(d) Write a shell script to find the sum of
digits of a given number.

51 e W ReTS (ol T IR 96! shell
script feai |
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(e) Write a shell script to find the factors

of a given number.
Gt TR el (A TETRIS <t shell
script &4l

() Write short notes on:
o (R forail ¢

(a) First Come First Serve scheduling
algorithm

(p) Shortest Job First scheduling
algorithm
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OPTION-D
ICT HARDWARE
Paper : CSC-HG-3046/TIT-RC-3016

Answer either in English or in Assamese.

1. Answer the following quéstions as directed :
1x7=7

wore Al e Tl e e e

(@ ______ was used in first generation
computers as their main component.
(Fill in the blank)

SR 2GS FRACOR TS T GeMA
fapiee s ol | (YT 312 %3 1)
(p) Full form of FAT is :
(Fill in the blank)
FATS sff wol 2e1 |
(AT 212 77 #)
(c) Cache memory is costlier than RAM.
(State True or False)

Cache memory RAM 3 (& |
(5% 7 T8% F10)
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(d) Full form of SMPS A e
(Fill in the blank)

SMPSI Af T o .
(=T 312 27 )

(e) 64 bit processor can carry ——— the
amount of data than 32 bit processor.
(Fill in the blank)

32 f35 processor O 64 {6 processor-9
ot AREE SR A
(0T 312 27 79)

(i What is the latest version of Internet
Protocol ?

(i) 1Pv4
(ii) 1Pvo
(i) TCP
(tv), DHCP

(Choose the correct option)
Internet Protocol< IO AHAH! 7 2
(i) 1Pv4
(ii) IPv6
{dif “TCP
(iv) DHCP :

(w7 TeWh! ffze #)
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(gl USB stands for .
(Fill in the blank)

USB WA __ . (RE AZ o[ )
2. Write short notes on : 2x4=8
5% (Bt foralt

(@) Functions of BIOS
BIOS— functions 94T

(b) Difference between CD and DVD
CD % DVD-Y #{I{P7ag

(c) Classification of computers
Computer-¥ &8 (®FFIR

(d) Different kinds of RAM
RAM-Y Rfen sz

3. Answer any th}ee questions : 5x3=15
Tz fofAbY e T i 8 |

(a) Discuss briefly the new trends in HDD.

HDD 97 4RPTIES RICA 530 SCtna 1 |

(b) What is computer virus ? Write a short
note on antivirus software.

{T59 ©izdic & 2 Antivirus software-%
esigs «ft 53 (GRel forall |
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(c) 7 Explain about preventive maintenance
of optical media drives.

ol A BiEed efEIeRs TS
g i = |

(d) Write briefly about different components
of modern computers.

R FiotRe [T wiiEiaT ﬁfm &
feralt |

(e) Write a short note on SMPS.
SMPS= @95 it 55 (Gp &t |

"4. Answer any three of the following :
10x3=30

oot WAl MRS Rz fofanla Ses o s

(@) Explain in brief different generations
of computers.

Computer-< Rfeg AT R st
401

(b)) What is file system? What are the
different types of file system ? Discuss.

File system & ? if$q w93 file system
@ & ﬁs ? G 31 |
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(¢c) What are the different types of sockets
and slots found in motherboard ?
Explain each.

Motherboard © Geieia if®F socket i
slot 2 & & ¢ eiteres! G <=1 |

(d) Explain about Intel processor family.
What is the latest trends in processor ?

Intel processor‘ AR T i |
Processor¥ (NZs1al «i9pTyg & & 2

(e} What is Network Interface Card?
Discuss network cabling used in
computer network.

Network Interface Card f& ¢ Computer
network ® IZ© ([ network cable AR
Rac enteti= <1 |

(f/ Write short notes on:
(i) IP address

(i) Virtual memory

53 (oIt Terall ¢
(i) 1P address

(i) ORREE (N1
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